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Losungen / Statistik 2/11

Rermove["d obal ™ %" ]

I Hyp[nN_, n_, p_, c_]:=
Sum[Bi nom al [pnN, m] Bi nonm al [nN (1 -p), n-m] /Binom al [nN, n], {m 0, c}]

uN= 10000

10000

Pl ot [I Hyp[uN, 50, mM/uN, 21, {pnM O, uN}, Pl ot Range -» {0, 1}7;
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Pl ot [I Hyp[uN, 50, mM/uN, 5], {pnM O, uN}, Pl ot Range -» {0, 1}];
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Pl ot [I Hyp[uN, 50, mM/uN, 71, {pnM O, uN}, Pl ot Range -» {0, 1}];
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1
B =Tabl e[l Hyp[uN, 50, p, 71, {p, 0.1, 0.3, 0.05}]
{0. 878397, 0.518612, 0.189754, 0.0448666, 0.00715178}
Tabl e[l Hyp[uN, 50, 0.2, k], {k, 2, 7}]
{0. 00126, 0. 00556938, 0.0182823, 0. 0476286, 0.102819, 0.189754}
2
M=uN % 0. 2
2000.
3
| Hyp[uN, 50, 0.2, 2]
0. 00126
I Hyp[uN, 50, N[2000 /100007, 2]
0. 00126
4
1-1Hyp[uN, 50, 0.2, 2]
0.99874
5

| Hyp[uN, 50, 0.3, 2]

4.27646x10°°
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C
1
Tabl e[l Hyp[uN, 50, 0.1, k], {k, 2, 7}]
{0.111125, 0.249605, 0.430781, 0.61617, 0.770643, 0.878397}
a=Table[l-IHyp[uN, 50, 0.1, k], {k, 2, 7}]
{0. 888875, 0.750395, 0.569219, 0.38383, 0.229357, 0.121603}
2
M=uN % 0.1
1000.
3
I Hyp[uN, 50, 0.1, 7]
0. 878397
I Hyp[uN, 50, N[1000 /100007, 7]
0. 878397
4
1-1Hyp[uN, 50, 0.1, 7]
0. 121603
5

1-1Hyp[uN, 50, 0.05, 7]

0. 00310034

2.

Ablesen: Ca. 20.0525 bis 20.0625.



